
ïčĆďČĈ ĎăþĉĆąđăĊČāČ ąþĉČāČĀČāČ ĆĊđėăďĐĀþ Þì èß ÉîñßéãàÙ 

óÞîÞèðãîæïðæèæ ÞèðæàÞ 

ëþĆĊăċČĀþċĆă 

þĈĐĆĀþ 

ÞĂĎăď ĊăďĐČċþēČĄĂăċĆĝ èČĉ-ĀČ, 

Ċ
2
/ďČĐ 

ìĔăċČĕċþĝ 

ďĐČĆĊČďĐĚ, 

Ďđÿ. 

"ßþĖċĝ 

òăĂăĎþĔĆĆ" 

àČďĐČĈ 

ā. êČďĈĀþ, đĕþďĐČĈ × 13 êêâô "êČďĈĀþ-ďĆĐĆ" 

 

 

 

2268 650 000 

000 



 

2-ē ěĐþĄċČă 

ąĂþċĆă Ā ā. 

íĝĐĆāČĎďĈ 

ïĐþĀĎČčČĉĚďĈĆć ĈĎþć, āČĎČĂ íĝĐĆāČĎďĈ, čČď. ïĀČÿČĂę, đĉ. 

1-ĝ ëþÿăĎăĄċþĝ, 22þ 

2 ěĐþĄċČă ċăĄĆĉČă ąĂþċĆă 

979,6 18 000 000 

3 ĈČĊċ. ĈĀþĎĐĆĎþ 

Ā 

äè ÉÞĉăĈďăăĀďĈþĝ 

ĎČėþ-2Ù 

ā. ßþĉþĖĆēþ 

ā. ßþĉþĖĆēþ, ĊĆĈĎ. ÉíăēĎþ-íČĈĎČĀďĈČăÙ (ĊĈĎ. 38Þ), đĉ. 

éđĈĆċČ, ĀĉþĂăċĆă 51, ĈČĎčđď 7 

 

94,88 4 200 000 



 

2-ē ěĐþĄċęć ĂČĊ ď 

đĕþďĐĈČĊ 40 ďČĐČĈ 

Ā 

ā. êČďĈĀþ 

ā. êČďĈĀþ, čČďăĉăċĆă âăďăċČĀďĈĆć,  čČď. ìąăĎċęć, đĕ. 25 650 50 000 000 



 

 

 

 

 

 



 

 

 

 

 

 


